s 2 Lesson o Charles did it this way.
Calculating Perimeter 10 o 53 24 cm
Bcm—-5cm

n

Bem

A rectangular plece of paper had a length of 24 cm and a width of 8 cm. 5 em *
A square with 5 cm sides was cut out from the plece of paper.
2% cm 24cm-5cm %
8 cm Perimeter of remalning plece
=24cm+8cm+3cm+5cm+5cm+19cm

=64 cm
The perimeter of the remaining plece Is 64 cm.

What was the perimeter of the remaining plece of paper?

' Guided Practice

Find the perimeter of the remaining piece whan 1 2 cm squares
° Amira did 1t this way. 10 cm
8cm
Perimeter of the rectangle
=24cm+8cm+24cm+8cm are cut from 6 cm.
=64 cm 5cm
Perimeter of square
=5cm+5cm+5cm+5cm (@) (b) (c)

=20cm

Perimeter of remaining plece
=64cm-20cm

=44 cm

Amira [s wrong.
Show the correct way to do It.
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